MIS 3200 Networking Fundamentals
Review Questions
1) With the client/server configuration, the Client can be a terminal and the server can be a mainframe computer.

a) True

b) False




2) You want to host a web site on a mainframe computer for public access. Can the Terminal-to-Mainframe configuration be used so that user can visit the web site using their terminals?

a) Yes
b) No

3) Explain your answer to the above question.

4) With File Server Program Access, the processing is exclusively done by client computer

a) True

b) False

5) The client/server configuration is platform independent

a) True

b) False

6) Platform independence means that the client computer may be a workstation or a server computer.
a) True

b) False

7) Platform independence means that a client computer may have a Linux operating system whereas the server has a Windows operating system.

a) True

b) False

8) Which of the following may be a reason why the processing is slow with Terminal-to-Mainframe configuration?
a) The terminals are in charge with most of the protocol-related job

b) All the processing is done by the mainframe

c) The mainframe does all the protocol-related job

d) All of the above
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